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I. E& (BAM) :

1
tan6§ __________\__
sin ¢ Y sin @
1\l tanf =
o cosf
0 :
-1 0 cosf |1
-1

I ZFADEE (EX2JFADERE) :

cos? @ +sin?6=1.
1. EEE :

cos(a+ ) = cosacos B —sinasin |

sin(a 4+ ) = sinacos B + cosasin 3 .

III'. Euler AT :

¢’ = cosf +isinf .

Euler DRXH SIEEBOEY /(F7) % 2@ D IFHHET 5.

0B — cos(a + B) + isin(a + B) ,
ei(a-i—ﬁ) — eiaeiﬁ
= (cos a + isin &) (cos § + isin f)

= (cosacos 8 — sin asin 8) + i(sin acos 8 + cos asin f) .
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1. cos,sin, tan OMEHAERER (ERE 72IIIEEH LKD)
cos (g — 9) =sinf , etc.

2. tan? 6 & cos? 0 ORAR (EFL = FHOEED)

1

1+tan?6 = )
+tan cos? 0

3. 28BN (IEEHED)
cos(26) = cos? § — sin®f = 2cos?f —1 =1 — 2sin’ 6 ,
sin(26) = 2sinf cosf .

4. #AORE 2 EADNKNED)
cos® ) =

(1 + cos(29)> ,
(1 — cos(20)> .

DN = DN =

sin® 0 =
5. MDA (IEEH X D)
cosacos § = 3 (cos(a+ 8) + cos(a — 5)) |
sinasin § = —% (cos(a + B) — cos(ar — ﬂ)) :
(sin(a + B) + sin(a — B)) :

sinacos f =

=N =

cosasinf = - (sin(a + B) —sin(a — [3)) .
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6. MBORN (FMORKXEID)

A+ B A—-B
COSA+COSB:2COS( —; )cos( 5 ),

cosA —cos B = —QSin<A—’2_B> Sin(A;B) ,

sinA+sinB = QSin(A;B> cos(AB> ,

2
sinA —sin B = 2(:os<A—;B) sin(A;B> .

7. 3EADRI (IEEH L 2 EADRKLD)

cos(30) = 4cos®§ — 3cos b,
sin(30) = —4sin® 0 + 3sin 6 .



